B 1
SportsPlay

MULTI-COLOR CLIMBER CHALLENGE

902-873

PART

ITEM NO. NUMBER DESCRIPTION QTY.
1 013-353 Frame For Challenge Climber 2
2 904-811 Challenge Climber Main Panels 2
3 004-812 Challenge Climber Tri Panels 2
4 904-813 Set of Panel Multi-Color Panel 1 2
5 000-000 Multi-Color Panel 2 2
6 000-000 Multi-Color Panel 3 2
7 000-000 Multi-Color Panel 4 2
8 000-000 Multi-Color Panel 5 2
9 000-000 Multi-Color Panel 6 2
10 [336-042 Challenge Climber Rope 2
11 013-354 Challenge Climber Top Support 1
12 [116-529 5/16" x 3/4" Buttonhead Bolt 32
13 [116-531 5/16" x 1-1/4" Buttonhead Bolt 70
14 216-512 5/16" x 1" Buttonhead Nut 102
15  316-501 5/16" Flat Washer 102
16 1316-601 3/8" Flat Washer 104
17  [126-707 3/8" x 1-1/2" Buttonhead Bolt 2
18 516-400 LockTite 4
19 416-505 7/32" Long Arm Socket Key 1

20 416-350 3/16" Socket Key 2
FOOTING
DIAGRAM
— 16-0 —
‘ /////’ \\\\\\
/ 48"

48”

SHEET 1 of 2

3 2 1




